1,3-F8ITY (—RIBE)

mEARE miEs MEAE s | | T p T EREMEMO
dtimE ALIRAILR ERALIRED —IRBE 12 0.072 0.017 ~ 0.36
JtimE AR AL X ERRE —HRIRE 12 0.060[ ( < 0.004 ) ~ 0.23
g ALIRTHEIX BRELYE— —IRBE 12 0.082| ( < 0.004 ) ~ 0.29
dtimE NG B/ HAER —RIRE 12 0.087| ( 0015 ) ~ 0.21
dtimE &N EENG) —RBE 12 0.057| ( 0.008 ) ~ 0.12
dbiEE G HEAER —RIRE 12 0.083 0.023 ~ 0.23
dbimE Frm BoHAIER —RBRE 12 0.073] ( 0.018 ) ~ 0.21
ERR HEHH RINERD —ARIR R 12 0.018| ( < 0.005 ) ~ 0.096
EHE I\FH INFINERB —IRBE 12 0.066 0.028 ~ 0.16
EFR BEh EEHB —RIRE 12 0.073 0.016 ~ 0.18
EFR =2am 1EETD —RBE 12 0.051| ( 0.016 ) ~ 0.14
EFR KiEm plllogo] —RIRE 12 0.023| ( < 0.006 ) ~ ( 0.058
EFR et JEHFHB —RBE 12 0.073] ( 0.023 ) ~ 0.32
EFR —F HER —ARIR R 12 0.043| ( < 0.005 ) ~ 0.15
EHE & T ERIFX RBED —IRBE 12 0.067| ( 0.014 ) ~ 0.17
BEHE 45 F AR K 5T [R BT KARBRTE —RIRE 12 0.066| ( 0.009 ) ~ 0.19
=EHE i EH AR A T EREER —RBE 12 0.0096| ( 0.005 ) ~ 0.025
HER KT KER —RIRE 12 0.092 0.037 ~ 0.24
MER BEH MR —RBE 12 0.034 0.018 ~ 0.051
IR JEET BREER —RIRE 12 (0.029)] ( < 0017 ) ~ ( < 0.1
W IR S0P EAIERBD —IRBE 12 (0.066)] ( < 0017 ) ~ 0.15
BER A BRI AR —RIRE 12 0.058| ( 0.020 ) ~ 0.12
BER LWhEH BB —RBE 12 0.054| ( 0.010 ) ~ 0.14
RWE KET KEBNBD —RIRE 12 0.054| ( < 0.010 ) ~ 0.14
TG B3 By%E —RBE 12 0.051| ( < 0.010 ) ~ 0.14
TR S0 THRER — IR 12 0.11] (< 0.010 ) ~ 0.32
FHE BIg™ BISFH (HRER) —IRBE 12 0.079] ( < 0.010 ) ~ 0.16
WmARR FHES TN —ARIR R 12 0.093 0.030 ~ 0.19
WmARE [N KETE —RBE 12 0.088| ( < 0.015 ) ~ 0.20
WAR KHERH WARTHBETE —RIRE 12 0.076| ( < 0.015 ) ~ 0.23
BER BTHE™ BERR —IRBE 12 0.24 0.080 ~ 0.57
BER [l PEARME —RRE 2 0.20 0.14 ~ 0.25
BER [Slbn BEXA —IRBE 2 0.16 0.055 ~ 0.26
HER AHET AHE—EBD —ARIRLE 6 0.11| ( < 0013 ) ~ 0.28
BER BAH BRE—KE —RBE 6 0.048| ( < 0.013 ) ~ 0.1
HER R RPFE1—RB —RIRE 6 0.046( ( < 0.013 ) ~ 0.083
BHER SWVEFmAR ERAER —IRBE 12 0.091] ( 0.020 ) ~ 0.34
BER SWEFHAER KERERH —RRE 12 0.092 0.037 ~ 0.25
BHER SWVeEFHHRREK REREHEEI Y- —RBE 12 0.087 0.032 ~ 0.29
BER SVEFATUHTIR SWEFHRAAIER —RIRE 12 0.090| ( 0017 ) ~ 0.28
BER SWVEETEHRK EWAER —RBE 12 0.12 ( 0.026 ) ~ 0.40
BER JIlgm JIEHIEE R —RRE 12 0.10] ( 0.015 ) ~ 0.36
BHER g JIBHEREER —IRBE 12 0.10 ( 0.013 ) ~ 0.39
BER At EaB —RIRE 12 0.089 0.039 ~ 0.21
BER o NoHZRER —RBE 12 0.15[ ( 0017 ) ~ 0.45
BER Jgm JNOmEFRER —iRIBIE 12 0.18 0.042 ~ 0.58
BER AR EHAER —RBE 12 0.092 0.044 ~ 0.29
BER AR RARAIER —RIRE 12 0.080 0.038 ~ 0.19
BER hnZEH BENFERCE —RBRE 12 0.073 0.033 ~ 0.19
BHER ExAITL EXAING] —iRIBIE 12 0.090 0.032 ~ 0.22
BER FAEH B Em &R —RBE 12 0.092 0.049 ~ 0.23
BER Bam AR —RIRE 12 0.13 0.056 ~ 0.32
FER FEHRE FEHKER —IRBE 12 0.081| ( < 0.006 ) ~ 0.36
FER FENEER HBAE — RS 12 0.20 0.042 ~ 0.78
FER ¥ HRFETR —RBE 12 0.078] ( < 0.018 ) ~ 0.40
FEE Il HIFEE — R IR 12 0.14 0.060 ~ 0.27
FER vt inE=RE R —RBE 12 0.15 0.060 ~ 0.40
FER SR EILBTRE —ARIR R 12 0.061| ( 0.022 ) ~ 0.20
FER WEm WFIRAR —RBE 12 0.083 0.042 ~ 0.19
FER BET BEMEEHD —RIRE 12 0.10| ( < 0.020 ) ~ 0.36
FER mR™ BARAER —RBE 12 0.072 0.020 ~ 0.20
FHEE eI HERGR —RIRE 12 0.022| ( < 0017 ) ~ 0.076
FER Ezh ERARRB —RBE 12 0.10 ( 0.020 ) ~ 0.36
HRE FRE FREEER —RIRE 12 0.16 ( 0.04 ) ~ 0.32
HRH FEX ERRRHER —RBE 12 0.10] ( < 0.04 ) ~ 0.24
HRE KHK KHREHAE —RIRE 12 0.30| ( < 0.04 ) ~ 0.90
HERH HERX HASXEARD —RBE 12 0.13] ( < 0.04 ) ~ 0.38
HRE Felll X )R ETFERER —iRIBIE 12 0.13 0.036 ~ 0.27
HERH B RIEXAER —RBE 12 0.13] ( < 0.04 ) ~ 0.38
R BEX BERAHARE —RRRE 12 0.10] ( < 0.04 ) ~ 0.31
HERH RBIR RARFBEHHB —RBE 12 0.16 ( 0.04 ) ~ 0.36
HRE IR SIFIREIANR — IR 12 0.17) ( < 0.04 ) ~ 0.54
HRH INEFH REFHB —RBE 12 0.12 ( 0.06 ) ~ 0.24
HRE NEFH FRETE —RIRE 12 0.13 ( 0.05 ) ~ 0.32
HERH INEFHT INEHTAREF —RBE 12 0.10] ( < 0.04 ) ~ 0.25
RRER LN RRNTRRER —RRE 12 0.10] ( < 0.04 ) ~ 0.29
HRH 7S ERREM BEEERRER —RBE 12 0.032)] ( < 0.04 ) ~ ( 0.12
BRINR  |EETREK REZRNERB — RS 12 0.096| ( 0.023 ) ~ 0.27
BRINE TR BRI —IRBRE 12 0.51 0.044 ~ 36
BRINE | IEHPRE PIRAIER — RS 12 0.11] (< 0.04 ) ~ 0.36




1,3-F8ITY (—RIBE)

mEARE miEs MEAE s | | T p T EREMEMO
BRINE  IBHEER SEAER —IRBE 12 0.092| ( < 0.04 ) ~ 0.28
#/ENNR  [AERTHRX MR FRIER —ARIR R 12 0.12| ( 0.025 ) ~ 0.25
HRINE  |EEET BAETBAERLERE —IRBE 12 0.1 ( 0.020 ) ~ 0.44
#wE)NNE  |[FES JBINERD —RIRE 12 0.073| ( < 0.009 ) ~ 0.22
#RINE  |ERE BRRMEFR —RBE 12 0.093| ( < 0.022 ) ~ 0.33
#/ENE  [MERERS NERHRFE —ARIR R 12 0.040| ( 0.010 ) ~ 0.1
BN S0 EHHERFB —RBRE 12 0.17| ( 0.008 ) ~ 15
#RINR  |EXH EARTREAB — RS 12 0.076| ( 0.013 ) ~ 0.16
FRE FRHRE KILB —IRBE 12 (0.030)] ( < 0.012 ) ~ 0.084
(e FRmIEK 2ER — BB 12 0.038)] ( < 0012) ~ 0.10
FRE KREH REIEEKR —RBE 11 0.044)] ( < 0.012 ) ~ 0.23
BIWLR B BILZEAR —RRE 6 0.074 0.032 ~ 0.13
BWLE faEh AER —RBE 12 0.044| ( < 0.03 ) ~ 0.10
=R Sk NEREWLB —RIRE 12 0.033[ ( < 0.03 ) ~ ( 0.07 )
AIE tEm tERAER —IRBE 6 (0.049)] ( < 0.03 ) ~ (< 0.14 )
BIER T IMNBRITER —RIRE 6 0.034)| ( < 0.03 ) ~ (< 0.14 )
BHE B/HM BHE —RBE 12 0.051 0.018 ~ 0.094
BHE HEH MAHH —ARIR R 12 0.031] ( 0.010 ) ~ 0.082
e B RF ARELRAER —RBE 12 0.13 ( 0.022 ) ~ 0.41
WRER BEtrEEM EHAER —ARIRE 12 0.16 0.052 ~ 0.42
I XA KARAER —IRBE 12 0.10| ( < 0.004 ) ~ 0.21
RER REH BRERLMEFR —iRIBIE 12 0.081 0.018 ~ 0.14
RHR &M &/ FHAER —RBE 12 0.060| ( < 0.06 ) ~ 0.30
RER AT WARR —ARIR R 12 0.085 0.032 ~ 0.22
RHR LmEH LHEB —RBE 12 0.17 0.097 ~ 0.32
RHR WEATH Eiila] — IR 12 0.12 0.040 ~ 0.28
RHR FIH FIE —IRBE 12 0.12 0.050 ~ 0.28
Ik B IR Ik B Ik B i 4L BRI E B —HRIRE 12 0.068[ ( < 0.027 ) ~ 0.16
IR B IR B FRAIER —RBE 12 0.091] ( 0.029 ) ~ 0.30
IR ER KiEH |BKIEH B AR & A ER — RS 6 0.067 0.025 ~ 0.14
FfE R ERfEI T AKX TUERXATAER —IRBE 10 0.051| ( 0.015 ) ~ 0.14
FrfE R R ERX AR/ NEREIE B —RRE 12 0.041 0.017 ~ 0.081
FfER ERREI T ER T X REFHFERAER —IRBE 12 0.065 0.022 ~ 0.11
FRER FREHEX HEANRNER —ARIRLE 12 0.071 0.030 ~ 0.13
EfER ERfE T AKX BKERE—NERAER —RBE 12 0.052| ( 0.015 ) ~ 0.13
FRER SEMTHRX JLEBRIE D —RIRE 12 0.056| ( 0.006 ) ~ 0.16
FfE R SAH SATREAH —IRBE 12 0.077 0.043 ~ 0.15
B Bt ER/NERD —RIRE 12 0.071 0.043 ~ 0.19
EfER E@EH BEHERFB —RBE 12 0.1 0.041 ~ 0.49
FER #IH BIH&ETD —iRIBIE 12 0.077 0.046 ~ 0.16
EfER i RATRIBD —RBE 12 0.079 0.037 ~ 0.18
FHR AHETTFRRE EHREEER —RRE 12 0.074 0.030 ~ 0.18
ZHE EHEEHHIIR EEXFR —IRBE 12 0.076| ( 0.033 ) ~ 0.22
FHR 215t KB —RRE 12 0.064| ( < 0.005 ) ~ 0.28
ZHE 21Eh ZNB —RBE 12 0.11| ( < 0.005 ) ~ 0.45
EHMR ] By 7 fEETIRERELIS— —iRIBIE 12 0.10 0.028 ~ 0.19
ZHE 2@h &R (= $FET) —RBE 12 0.091 0.051 ~ 0.23
FHR N MNEERB — IR 12 0.061 0.021 ~ 0.11
=ZER m A LESKAER —RBRE 12 0.24 0.015 ~ 2.2
ZER =l mATEESKAER —RIRE 12 0.10| ( < 0.016 ) ~ 0.45
=E5 AR N ER —RBE 12 0.043| ( 0.013 ) ~ 0.12
=) & ZERRATE —RIRE 12 0.044 0.014 ~ 0.073
=ZER FEH FERrERER —IRBE 12 0.044 0.022 ~ 0.099
HER Kigth RHEB (k) —RIRE 12 0.044| ( < 0.020 ) ~ 0.098
HER Xz EHFHREVE— —RBE 12 0.24] ( 0.14 ) ~ 0.31
HER RiEH RER —ARIR R 12 0.062| ( < 0.020 ) ~ 0.14
HER Hizh HER —RBE 12 0.053| ( < 0.020 ) ~ 0.12
BER mEm BESRTE —RIRE 12 0.033| ( < 0.020 ) ~ 0.14
HER FHELH FELB —RBE 12 0.086| ( < 0.020 ) ~ 0.32
RAEBAF R HRRE &R —RRE 12 0.081 0.039 ~ 0.12
RERRT At BB A L AT AHILE —RBE 12 0.092 0.026 ~ 0.26
KBRAF KBRHRMAX ERENG] —iRIBIE 12 0.1 0.046 ~ 0.30
KBRAF KB FEEFX EBTRERRD —RBE 12 0.16] ( < 0.004 ) ~ 1.1
KBRAF KR4 X Bl hERB —ARIR R 12 0.11| ( < 0.004 ) ~ 0.70
KBRAF RHERX ENER —RBE 12 0.067 0.019 ~ 0.21
KBRAF FAT FHMAFRAE —RIRE 12 0.079 0.035 ~ 0.22
KBRAF L FRB —RBE 12 0.14 0.065 ~ 0.30
KBRAF = wHEMIEER —RIRE 12 0.14 0.032 ~ 0.39
KBRAF =T EHER —RBE 12 0.089 0.022 ~ 0.22
KBRAF BiFm BIFTGEGER —ARIRLE 12 0.075| ( 0.023 ) ~ 0.19
KBRAF wA™ WATEREFBD —RBE 12 0.12 0.046 ~ 0.31
KIRAF J\ETf INEBREFB — IR 12 0.13 0.043 ~ 0.40
KBRAF RIEFTH EFRERD —RBE 12 0.085 0.027 ~ 0.22
KBRAF Bk BERH R —iRIBIE 12 0.094 0.035 ~ 0.21
KBRAF BEEIH BERIHERAB —RBE 12 0.12 0.027 ~ 0.39
KBRAF BIFFH BIAFHEE —HRIBIE 12 0.19 0.066 ~ 1.0
KBRAF EeNii BERELVI-B —RBE 11 0.14 0.075 ~ 0.26
KBRAF Pa B (31) VIL)S= A#tEoA— —RIRE 12 0.1 0.033 ~ 0.36
EER HEHRERX REXKAER —IRBRE 12 0.096 0.047 ~ 0.23
EER MEMABR BERKBER —RIRE 12 0.064 0.030 ~ 0.15




1,3-F8ITY (—RIBE)

mEARE miEs MEAE s | | T p T EREMEMO
EER HETHERX BEHAKAER —IRBE 12 0.080 0.019 ~ 0.45
EER IR I\RBIER — IR 12 0.079 0.032 ~ 0.12
EER ™ FBFE —IRBE 12 0.14 0.057 ~ 0.28
EER AT KARFELII— —ARIRLE 12 0.10 0.047 ~ 0.26
EER wEm BEEMRAD —RBE 12 0.10 0.032 ~ 0.29
EER WA WATRATR —RRE 12 0.23 0.069 ~ 0.48
EER LT LRTERAD —RBRE 12 0.086 0.035 ~ 0.16
EER ey B —iRIBIE 12 0.13 0.073 ~ 0.52
EER =00 ZEHEHD —IRBE 7 0.13 0.048 ~ 0.20
EER =eloi] ZODHEFR —ARIRE 12 0.10| 0.052 ~ 0.16
=RE =RM FAREFER —RBE 6 0.036) ( < 0.0020 ) ~ 0.10
ERE R BEHRREFRAER —ARIR R 12 0.042| ( < 0.0020 ) ~ 0.21
=RE KEH RER —RBE 12 0.096) ( < 0.03 ) ~ 0.25
MPLE  |FFLE RAREHEAT — RS 12 0.086 0.050 ~ 0.19
AMPLE  |[FFLE SIS TEV - —IRBE 12 0.072 0.030 ~ 0.15
MPLR  [BEH BEATHERHE —ARIR R 12 (0.040)| ( < 0012 ) ~ (< 0.13 )
BERE BEH BRESIRRERB —RBE 11 0.049 0.026 ~ 0.077
BRE XFh BREXFREFRB —ARIR R 11 0.13] ( 0.035 ) ~ 0.8
BRE BEm BRERSERETR —RBE 11 0.094) ( < 0011 ) ~ 0.54
BRE [ BRG] —ARIRE 12 0.018 0.0088 ~ 0.041
SRE RIRERIROSET  |EHEEH —IRBE 12 (0.0052)] ( < 0.004 ) ~ ( 0.011 )
il LI R FE LT 4b X BRI/ —RIRE 12 0.052| ( 0.010 ) ~ 0.15
i LIS B#H BRENR —RBE 12 0.10 0.036 ~ 0.16
FEl LR i EERER —RRRE 12 0.047)] ( < 0012 ) ~ 0.27
LER REMERX FHONERBAER —RBE 12 0.10 0.039 ~ 0.19
LEBR LEEHRIERR RIEFRREFAIER —ARIRE 12 0.12 0.057 ~ 0.21
LER am HENERBD —IRBE 12 0.089 0.041 ~ 0.16
LR fElh BINERR —ARIRLE 12 0.12 0.032 ~ 0.22
LER EVUNCL FESBEENERR —RBE 12 0.039) ( < 0.010 ) ~ 0.067
in=} TR THHRERE —ARIRE 12 0.087 0.034 ~ 0.22
[il=]-3 FHbH FEHHRDMBLEIE— —IRBE 12 0.061 0.020 ~ 0.18
[il]=]} Fhi FRREBULIS-B —RIRE 2 0.020| ( 0.016 ) ~ ( 0.023 )
[il=]-3 EEH REARNERD —IRBE 12 0.049 0.026 ~ 0.092
=y At AEh&HE —RIRE 12 0.27 0.035 ~ 1.0
EER [l o] —RBE 12 0.12 ( 0.0077 ) ~ 0.91
] IS EIMHAKRIZIZTEVE— —RIRE 12 0.096 0.033 ~ 0.21
IR A ABHEFB —IRBE 12 0.090 0.038 ~ 0.16
i RETEEABD — IR 12 0.10 0.042 ~ 0.25
T BEAHB —RBE 6 0.074] ( < 0.020 ) ~ 0.14
FHEH EPHAR —ARIR R 12 0.035| ( < 0.005 ) ~ 0.15
EElm TER —RBE 6 0.063| ( < 0017 ) ~ 0.10
AT ARBEERE —ARIR R 12 0.034| ( 0.005 ) ~ 0.072
E)IEBL DBY FHERTER —IRBE 12 0.067| ( 0.005 ) ~ 0.12
EAMTNERER |ERESAB —RRE 12 0.052 0.022 ~ 0.11
ERHEREX MR —RBE 12 0.039] ( 0.024 ) ~ 0.068
EETEEX 5B —ARIR R 12 0.067 0.044 ~ 0.13
fERmEX R —RBE 12 0.067 0.045 ~ 0.10
KERH ERXE£HRBRESH) —iRIBIE 12 0.071 0.026 ~ 0.20
mMEH ~MER —RBRE 12 (0.12) 0.026 ~ (< 04)
EEH EEB —RRRE 12 0.047)] ( < 0.005 ) ~ ( 0.10 )
FEEM KiEH —RBE 12 (0.042)] ( < 0.0029 ) ~ 0.090
Rk NBXFB —ARIRE 6 0.14 0.051 ~ 0.25
Edaud HERKRAER —IRBE 6 0.080 0.049 ~ 0.15
B ] 5% >t B B 14 ORI E P —ARIR R 12 0.014| ( < 0.005 ) ~ 0.043
AT KITHERAT —RBE 12 0.053| ( 0.009 ) ~ 0.14
EX: HRARENMB —RIRE 12 0.042 0.019 ~ 0.087
P il FFHERAER —RBE 12 0.051| ( 0.005 ) ~ 0.090
g FRERETER —ARIR R 12 0.023| ( 0012 ) ~ 0.045
BHEH FEER R —RBE 12 0.049 0.020 ~ 0.10
B BT B —RIRE 12 0.025| ( 0.010 ) ~ 0.064
IR S ER = SRET SRR IMEVI-B —RBE 12 0.049 0.015 ~ 0.11
ERBR |EBRBH &R — RS 6 0.089 0.036 ~ 0.18
ERER |EET BEEMRERELYI— —RBE 6 0.050 0.024 ~ 0.10
BRBR [BBTH BER —iRIBIE 6 0.050 0.028 ~ 0.089
ERER |@m&Em BEDFEH A —RBE 6 0.045 0.029 ~ 0.088
SRR BEFHH BHEHFRAE —RIRE 12 0.050| ( < 0.005 ) ~ 0.089
SRR ik SRR —RBE 12 0.073] ( < 0.007 ) ~ 0.37
SRR A BERERARFTB —RIRE 12 (0.020)] ( < 0.006 ) ~ ( < 0.06 )
SRR EZE AR E EE A I 5% 320 1= W B 14 R 5E P —RBE 12 0.016] ( 0.005 ) ~ 0.062

@ EFHEORTHE - EFHEN. EAOKKRETRERBTHIIHAE. TOEEFMEETRTLS,

@ REHE(R/ME~RKE)ORTHE
+ B/MER SR KEDEN ., R TRIERBTHIIZAE. [ <(FHLADRHETRE) JELTRTRLTNS,

+ RMEXSERAEDMEN ., Bt FRIEL L EETRERBETHLGEE. [ GRIERE) JELTRRLTVS,

+ R/MEX IR KIEDER. JIS Z 8401(CL>THIBZE IS . BRI F2HELTRIRL TS, 2L, HIHIHITIEE TRIEDHETEL.
ENIDTOHIFRZRLEL,




1,3-F89IY GEERED)

WERRE A AR AS wasm | gm0 g EREMEMD
dtiEiE ALIRHEER FEREH FRERED 12 0.1 0.016 ~ 0.20
BHR NGl BENERB FAERRED 12 0.056| ( 0018 ) ~ 0.12
EFR BoW EamHREE - FERED 12 (0.034)] ( < 0.005 ) ~ (< 0.24 )
EFR &M BEPE—HRRR FRERED 12 0.049| ( 0013 ) ~ 0.18
EFR SALERE B AT FEIT—RER FRERED 12 0017] ( < 0.005 ) ~ ( 0.038 )
EHE WETERERX THE FERED 12 0.080| ( < 0.008 ) ~ 0.29
EHE HEh EE—RBERRAER FRERED 12 0.090 0.023 ~ 0.30
BER BT FER R 4RRED 12 0.072| ( < 0019 ) ~ 0.17
BRA W INBSEE BT F4RAD 12 0.060| ( < 0.007 ) ~ 020
KR SEEH B R RAERRED 12, 0.074| ( < 0.010 ) ~ 0.23
TR G il HAEH FAERRED 12 0.14] ( < 0.010 ) ~ 0.38
TR G il HAE TR R 4RRED 12 0.098| ( < 0.010 ) ~ 0.23
HAR FHEH AR FAERRED 12 0.066| ( 0014 ) ~ 0.15
AR MU BRREELEY - R 4RRED 12 0.12| ( 0011 ) ~ 0.29
AR Bt ERNER R 4RRED 12 0.098| ( 0.008 ) ~ 0.23
HER 3l Il A 1] FAERRED 6 0.032| ( < 0013 ) ~ 0071
BER i EMIEMBAR FERED 12 0.12 0.054 ~ 0.24
FER FEHHRR BEF R 4RRED 12 0.15 0.054 ~ 0.38
FER FEHHRR EIIMNER FAERRED 12 0.14] ( < 0011 ) ~ 0.35
FER R HREETER HARRED 12 0.67| ( 0.035 ) ~ 37
FER il IBIERIER R 4RRED 12 0.25 0013 ~ 1.0
FER R Bl R 15 R 4RRED 12 0.24 0.025 ~ 097
FER R WIS RIE R HARRED 12 0.24 0.015 ~ 074
FER il J\BRIER RAERRED 12 0.10 0014 ~ 027
FER AT WIERAR R 4RRED 11 0.20 ( < 0.020 ) ~ 0.71
#ENNE  |HETBRE BERPAXRIITH R 4RRED 12 0.14 0.039 ~ 0.37
WENR |BETRHX PREAKF HARRED 12 0.11 0.031 ~ 0.26
WENE NS KERRIER FAERRED 12 032 ( < 0.05 ) ~ 0.54
#ENR |RAET BETREYA-HEE R ARRED 12 0.13 0.061 ~ 0.46
#ENE  |TES I\BBINER R R 4RRD 12 0.11] ( 0019 ) ~ 041
HRR FimmdtX WER FERED 12 (0.040)| ( < 0012 ) ~ 0.088
[#rimR it 32 SRR 11 o) (< o0012) ~ 0.26
B W KiEH £ 11 047 ( < 0012 )  ~ 11
B g wEER £ 11 0059)] ( < 0012 )  ~ 0.16
HRR =k a0 FRERED 11 (0.0096)] ( < 0012 ) ~ ( 0.025 )
EWR 15 il EERARB HARRED 12 0.032| ( < 0.03 ) ~ ( 007 )
BHE AT RER R 4RRED 12 0.067| ( 0.010 ) ~ 0.10
BHR R ZER R 4RRED 12 0.062 0.027 ~ 0.16
RER FE & BRG] FERED 12 0.10 0.060 ~ 0.15
FHR HEETER EaR RAERRED 12, 0.092] ( 0.036 ) ~ 0.23
FHR AHETRR BRI FERED 12 0.14 0.043 ~ 0.25
FHR FEm FETRFD FRERED 12 0.057 0.021 ~ 0.13
FHR Higm HiBm A A FERED 12 0.067 0.025 ~ 0.13
ZER mAmH ZIRMNEREIER FRERED 12 0.25| ( 0018 ) ~ 2.1
HER b2l KFEFEItEVE— SE4IRED 12 0.058| ( < 0.020 ) ~ 0.13
RERT REHERX EEREXIEEYI— HARRED 12 0.11 0.045 ~ 0.24
KIRAF IRTHAEX EER FRERED 12 0.099 0.031 ~ 0.29
KIRAF RKiEH RKEHRFB FERED 12 0.090 0.030 ~ 0.25
EER HETEER EEFHASAER R 4RRED 12 0.064 0.033 ~ 0.15
EER ik 153 HERKTAER HARRED 12 0.088 0.046 ~ 0.20
EER e Il BIFFR FRERED 12 0.12 0.052 ~ 0.24
EER ‘R B mRS FAERRED 20 2.3 0.063 ~ 40
=RE KA BBILFNSKiE FERED 12 0.12] ( < 0.03 ) ~ 0.35
MIUR  |HEAH HATNSARER FRERED 12 (0.046)] ( < 0012 ) ~ (< 0.13 )
SRR WL IXMED FERED 12 0.038 0.015 ~ 0.15
I &L R FRNER R 4RRED 12 0.089 0.034 ~ 0.23
i LUy 1R B IR FERED 12 0.34 0.053 ~ 0.80
i LUy 1R B 8RB FRERED 12 0.10 0.052 ~ 0.15
i LUy 1R B BER FERED 12 0.15 0.035 ~ 0.42
I =t Gl ZEREHHE HARRED 12 0.085 0.029 ~ 0.18
i LUy 1R EHH BEXSKHER FERED 12 (0.037)] ( < 0012 ) ~ 0.093
i LUy 1R kAT EEXKEER RAERRED 12, 0.027)] ( < 0.012 ) ~ ( 0.073 )
LESR LESHRR HaER AR RAERRED 12, 0.10 0.04 ~ 0.20
LE&R A BRNERB HARRED 12 0.11 0.047 ~ 0.18
LE&R MR MRERR HARRED 11 0.028| ( < 0.010 ) ~ 0.051
LE&R Pk KR AERB HARRED 12 0.093 0.025 ~ 0.28
LE&R REEREEAT BEBRED HARRED 12 0.29 0.042 ~ 27
BER BT XiBRB HARRED 12 0064] ( < 00029 ) ~ 042
BER HREF AL BAT E4=15] HARRED 12 017 ( < 0017 ) ~ 14
FIR SR HBEBR RAERRED 12, 0.067| ( 0.017 ) ~ 0.12
IR &I E BAT BEEH&SH HARRED 12 0.053| ( 0.016 ) ~ 0.077
EER HEET HPREMHKR FERED 12 0.056| ( < 0.005 ) ~ 0.23
1B E JEAMFERR HRERAD FERED 12 0.050 0.017 ~ 0.086
1B E EAMFNELRE  [SEAMBRES FERED 12 0.081 0.021 ~ 0.13
1B E HEH BEEHNEELYS- SE4IRRED 12 (0.12) 0.014 ~ (< 04 )
XHR Ko ZENEREIER FERED 12 0.38 0.047 ~ 19
XHR HEH FELHARE FERED 12 0.029| ( < 0.009 ) ~ 0.16
=R BEH LEREBEHR FERED 12 0.050 0.018 ~ 0.091

O EFHEORTHE - FEHEDN. FAORKRETREREBTHLEE L. ZOEEENEETRRLIVS,
Q@ RERE (B/ME~BRXE) ORRAE :

+ R/MERBRAEOEN, R TRIERETHIAHEE. [ <(
+ R/MERBRAEOEN. R TIRIEL LEE TRERBTH SRR, [ CAIEME JELTRRLTNS,

Y ADRHTIRIE) JELTRRLTS,

+ R/MERFRAEDMER. JIS Z 8401(CL THIBZE ALY BIBF2HELTRRLTNG, L. ABICH TR EE T REDHTETEL.
ENINTOHTERRLEL.




1,3-FRITY GRE)

mEARE miEs MEAE s | | T p T EREMEMO
dbimE AR R RE E1%&E8#B RiE 12 0.18 0.087 ~ 0.26
JtimE NG RH#HB i 12 0.070 0.019 ~ 0.16
dbimE Frm JIFERIER E 12 0.14f ( 0.027 ) ~ 0.39
ERR ol BEHRETR i 12 0.021] ( 0.005 ) ~ 0.12
EFR —Bim —Bm=RER RiE 11 0.084 0.050 ~ 0.18
HEHR A TERE BB i 12 0.14 0.049 ~ 0.27
EHE &M RE [ER E 4 0.20 0.041 ~ 0.44
BEHE ZEH ZIEBHEHHIRAER i 12 0.17 0.077 ~ 0.25
HEE #wFEH HFEHB i 12 0.26 0.043 ~ 0.52
LR Wz WHRFILRE E 12 0.17| ( 0.019 ) ~ 0.50
BER B/Em EFRSFE E 12 0.12 0.033 ~ 0.43
EER LWhE E2o] RE 12 0.14 0.042 ~ 0.37
TG i TiERME E 12 0.12 ( 0.010 ) ~ 0.33
WARR FHES FHEHESHEHIZAER i 12 0.10 0.070 ~ 0.19
mARE [N IR ERBD E 12 0.16 ( 0.015 ) ~ 0.52
BER Elong FRBBEHR e 6 0.11] ( 0.013 ) ~ 0.23
BHER SWVEFmAR ZHEEHAER RiE 12 0.17 0.090 ~ 0.46
BER SWEFMER A EHRIER RE 12 0.16 0.060 ~ 0.46
BER SVEFREHR BEREHRER i 12 0.13 0.041 ~ 0.36
BER JIlgH JIEHALRRIE B iE 12 0.15 0.032 ~ 0.42
BHER am JNOm#IRRER RiE 12 0.21 0.062 ~ 0.58
BER AR My RBER E 12 0.12 0.042 ~ 0.28
BER N EMHEEEHB i 12 0.17 0.069 ~ 0.33
BER FEf FHEZABHR i 12 0.15 0.041 ~ 0.32
FER FEHHRX FEMEKR (BH) E 12 0.24 0.087 ~ 0.67
FER FERERIR EHABBEHFHTR e 12 0.21 0.046 ~ 0.74
FER ol THENER E 12 0.16 0.043 ~ 0.33
FER fatgh HIBEOH R RE 12 0.20 0.067 ~ 0.37
FER WET WFE LD RiE 12 0.14 0.039 ~ 0.29
FER fiskic) JBRIE R i 12 0.16 0.029 ~ 0.36
FER i KErEAER E 12 0.19 0.070 ~ 0.46
HRE FRARX AEAXERBER E 12 0.16 0.076 ~ 0.26
HRH IRE REEREFR E 12 0.22 ( 0.04 ) ~ 0.57
HRE KHEEX BREEMRBEHEHIZAER E 12 0.24 0.078 ~ 0.48
HERH HERX B/\EN/\BLR E 12 0.18 ( 0.07 ) ~ 0.35
#/EIR |[EEHETFX BFXEER i 12 0.17 0.082 ~ 0.41
HRINE |BEHTFER FERERRERAR E 12 0.17 0.087 ~ 0.51
BRI [T EX tEBER RE 12 0.53 0.23 ~ 1.0
BRINE  |FHEH HENERD E 12 0.10 ( 0.017 ) ~ 0.26
LRI Y HRIBR e 12 0.21 0.089 ~ 0.58
BRINE | K#H AT RREXRERR E 12 0.19 0.081 ~ 0.46
HFRE FRHREX BB i 12 (0.076)| ( 0017 ) ~ 0.16
FRE KREH ShRE B3R E 11 0.062| ( 0.012 ) ~ 0.26
BWLR Sk INEER E 12 0.037| ( 0.03 ) ~ ( 0.07 )
k=S Framh HFRTAER E 6 (0.070) ( 0.06 ) ~ (< 0.14 )
BHE 'HH BHHEHB RE 12 0.086 0.041 ~ 0.12
e B RF EFEBEEIRB E 12 0.18 0.028 ~ 0.52
T Gl EBBBEHIAB e 12 0.23 0.041 ~ 0.61
EHE EHH SREBAR i 12 0.068| ( 0.06 ) ~ 0.20
RER (AN WEERERB RE 12 0.30 0.16 ~ 0.43
IR B IR B BREEAIER E 12 0.076| ( 0.027 ) ~ 0.16
IR fiiond R TR e 6 0.12 0.050 ~ 0.24
FfE R ERfEI T AKX BHHBRER RiE 12 0.14 0.070 ~ 0.31
FrfE R EMTHRR R-25TRIE R i 12 0.23 0.14 ~ 043
EfER =B BHZER RiE 12 0.18 0.074 ~ 0.51
EHMR ZEEHILR L TFKERILEEMB E 12 0.10 0.050 ~ 0.26
ZHE EHETEAR EEETEEERGS E 12 0.17 0.053 ~ 0.30
EHME 215t SR i 12 (0.026)| ( 0.005 ) ~ 0.1
EHME &g i BisH A FEXKBER i 12 0.18 0.056 ~ 0.29
FHR 2@H ERMEAATE i 12 0.14 0.085 ~ 0.29
BEHME iR TRMRAB i 12 0.080 0.025 ~ 0.14
FHR EEERRE A REBBEHIRAER i 12 0.11 0.043 ~ 0.21
=ER fhEET™ EE235 E 12 0.1 ( 0.0058 ) ~ 0.36
HEER g BHEER e 12 0.16] ( 0.020 ) ~ 0.23
RERRT FREHHRREX BHXER E 12 0.26 0.22 ~ 0.34
RAEBAF R HILRKE BHLER e 12 0.15 0.057 ~ 0.28
RERRT J\BET™H EiE15/ RiE 12 0.1 0.062 ~ 0.22
REDRT ZEIERA L T EE1718/ E 12 0.083 0.036 ~ 0.19
KBRAF KB #ER)IX HESNERB E 12 0.076| ( 0.004 ) ~ 0.27
KBRAF KR4 X HEHER E 12 0.17 0.035 ~ 0.40
KBRAF RHERX FRERR RiE 12 0.24 0.12 ~ 0.50
KBRAF 2 &R RE 12 0.17 0.072 ~ 0.34
KBRAF WA WA SHHFB E 12 0.21 0.043 ~ 0.41
KBRAF B BRH&FE E 12 0.13 0.059 ~ 0.26
KBRAF sFAm RITEESRR E 12 0.19 0.05 ~ 0.46
KIRAF wAH BB i 12 0.17 0.028 ~ 0.37
KBRAF \ETH AFER RiE 12 0.18 0.062 ~ 0.42
KBRAF R WRILDNERB RE 12 0.17 0.072 ~ 0.34
KBRAF =AaT HEF-IIMBSH RiE 12 0.20 0.085 ~ 0.41
KBRAF RKMRH REGERELVI-B RE 12 0.20 0.084 ~ 0.37




1,3-FRITY GRE)

WERRE Az MEAS s | | T o TEREEMS)
KBRAF B EHmEBEREAER RiE 12 0.21 0.068 ~ 0.67
EER HEHRERER REEBEINER e 12 0.091 0.039 ~ 0.17
EER HWEHEKE FEKEBEANER RiE 12 0.17 0.088 ~ 0.34
EER e RE)IB E 12 0.17 0.057 ~ 0.31
EER FEEH BFEB i 12 0.16 0.054 ~ 0.47
EER wEh BHB RE 12 0.17 0.043 ~ 0.54
EER EEm =M ER E 12 0.15 0.087 ~ 0.24
=RR BR BHHERB i 12 0.14] ( < 0.04 ) ~ 0.26
AMILE  |EHE FRE I HE A AR i 12 (0.038)] ( < 0.008 ) ~ (< 0.13
BRE BERH KEIRERD RE 11 0.13 0.09 ~ 0.2
BRE KFH RFHERFER E 11 0.079 0.048 ~ 0.12
BRE [ FEEABHD RE 12 0.077 0.024 ~ 0.17
i LS EREE R ST REAKAER E 12 0.12| ( < 0.012 ) ~ 0.22
LBR LEEMRRX SAWLAIER i 12 0.17 0.096 ~ 0.32
LER ZRH ZREHEB RiE 12 0.098 0.057 ~ 0.17
LR fElh R &R RE 12 0.16 0.082 ~ 0.22
EER mem BHESR E 12 0.23 0.077 ~ 13
IR [N ERAER e 12 0.13 0.051 ~ 0.23
EHE EElm FERILET D E 5 0.23 0.20 ~ 0.27
fERR JEAME/BRX  |FERERIER E 12 0.13 0.037 ~ 0.24
1ERE BRTRRX o] E 5 0.14 0.072 ~ 0.21
fERR KEHAT LHE B 12 0.062 0.025 ~ 0.1
1ERE A B E &R EEEHR RiE 12 (0.14) 0.032 ~ (< 0.4
EER EEH EER i 11 0.071 0.025 ~ 0.1
RIBE RIGH RBHHRBEBHEHHIVIER i 6 0.26 0.16 ~ 0.43
RIBR Edanil EE34S BRI HRETELEERB e 6 0.094| ( 0.016 ) ~ 0.16
RIBGE Edaud EiE S HRENEZERAMBERBKAT i 6 0.15 0.070 ~ 0.23
EAR N KEHT B RE 12 0.14 0.064 ~ 0.21
AR AT HKAETH RiE 12 0.14 0.056 ~ 0.30
AXPR Xpm BREHHIZAEBAER e 12 0.20 0.074 ~ 0.46
Pl Pt BBHEHHIAFRAER i 12 0.28 0.10 ~ 0.62
K8 B RFH JLER#RYTi5 E 12 0.048| ( 0012 ) ~ 0.092
HIFE R HBEBD E 12 0.15 0.064 ~ 0.34
ERBR  |EEIANTH EEINB e 6 0.14 0.082 ~ 0.19
ERER |WBRWH BE E 6 0.079 0.055 ~ 0.10
PR HBEFHH WER i 12 0.097| ( < 0.005 ) ~ 0.19
Bt Ty ShHBH HITER i 12 0.22 0.10 ~ 0.33

@ EFHEORTHE - EFHEN. EAOKKRETRERBTHIIHAE. TOEEFMEETRTLS,

@ REHE(R/ME~RKE)ORTHE

+ B/MER ISR KEDEN ., R TRIERBTHIIZAE. [ <(FELAORHETRE) JELTRTRELTS,
+ RMEXSERAEDMER ., Bt FRIEL L EETRERBETHLGEE. [ GRIERE) JELTRRLTVS,

+ R/MEXFHZKIEDE. JIS Z 8401(CL THIEZ NS EHEHF2HELTRRLTNS, 2L,
FNLDTOHTERRLEL,
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